Dol”

—

4+ huwls _fom §81 — §8.4

=3 ed N=3ag

o (02 €”) = o (23)
: rAs)

£ L e extending n +o be
£ h e u-ﬁw‘nm; Ve fable
Z el s =10

(CL.) F\ seguencg i o whele list of numbers. A series
F1

(when 1+ exi b_Converyged ) _j,_s_____?ﬂ" ona I_fmmbﬂf".___m"

w‘, ?Q'ML"HMJ [ § 2.5 %.8% _‘E“;;::I:;Pkg Md CL'I’

Fimes s0y “secies”  wham o Ye moce precise T au.ald)
4o 3@.3 ~ Powser seri@s #, A power series s

o funchon defined paintwise by o series. Thet means

foc eadh X we oagcign a series SC<).

s,
(b-) Can:i;b-« 'ﬁ\e Series 5= q'+a1+a3+“- = < C:L.,,
The n* parhial sum is $ﬂf .
4}
gﬂ = Z Qi = q|+az1'ag+”"f‘ Qn
=i
The secies, is  Hha \imit of dho pactiod sums,
T = Q, = ﬂim s == j,’ S’
Z ¢ N=d o 1ti;‘ i vl

Vi=Big
T?mw +wa Pﬂ.tnéa*h-ﬁer occur,

Z.) Him A e A &> Serier S Coﬂua'g,mf:
n-=% o

* - ks d‘JrJE .

z:) n’gﬂ. S:; does not Cinverge <= S rg,wcé

_I,-r words, the secies {:anwgrw whin  the  [imit of the Sey nend

of PW‘J“)'J Swums  Convecgeo. Lihewise e cecier d‘{uﬂr@w

i?— -H'\ﬁ. i c:M'f Hha Fe.g&ﬂ-ér';& of Pa.r’f"fu.ﬂ Juams drl'-..ii’.rﬁdé,
i o

L s -
63.-?— e e T gl 1T oo '@} metei Q,
[ﬁra] Ly bs) N T " Ve

- -]
Series — =
-Hnus b\a %&nm- Series THW&: Yy Serier Con uergad,
m{,{‘:pﬂ#:ff sine 1% geometric we HRaow

-.'_z...w—-ﬂ_t‘_._-;.__._‘u’&_f_“’ai: ek
g P L= \+ % S 6 L

E Z'hn{n] di.dtrgja Ba b Y i hinln) # 0.
n=i 'h—'x‘)ﬂ




ak e _ M6 | . . — > -——-—-57;
. Efj;;al i e SR R

We nebiced i:f‘ is %@u;mcfrr"c with =5 ad r="%.

§8.2 i s = = ( T I “5““3 po-rtiak 'ﬁqd-wm‘)
‘._#33_. AP R Gy Y ol ien

n=z
Sn = (\-7‘) (~~/f) (%;edw*;-{?‘f%i)ﬁ{ﬂ
R = x5 JrT ~ m-'i = nea_t we've c»lcwfded-i’&u n*
P artied  fam.
. ‘éﬂﬁ—liﬂa Sa = .‘!-‘;T,("*‘"i '“%/u %;) = It =1

| Te Summari ze, thic ir a M;cqg? serier Thed caﬁverwfa %,

— 2
$6.20 0.2 = 0.2222... = 2+2 L, E 2 ... = go -
#*30 | ¥ T een o0 1= Yo

VI{A@ Uf}w-:m ‘?\ﬁ-ﬂ }MM!I‘/K;‘: Sevier qu## I-u/% a:%aﬁ r‘}fa,

$8.3 f Jq. is o p-Series with P=y A 4 Converggo b'a p ~secies test,
3 n

§2'? zlne ? + m'lkﬁﬁﬁ[m.i -le‘:'i‘ ,f-ﬁ;b -P{.}(} = K‘E.X 'H\-bVI
#13 clemﬁ Ff:n;erz ne . Bl £OGZ 0L X =i

>
*

e Ffix) detrea;tn - .
e o " TR
%) = ax(m") € =-xe =(i-x)e

_n\US f X)<0 wham X 71 henw £ is cff’crgmr;n%

= ey X _ =X d
fb{e Cl}‘: - *'K'E #SE Ci'ﬁ( = "XE e + C .(’kj:‘jgp
A dv 2
B SmXE—de — E"M ( }(E - e |
i + =200

= Hlm (—ie_‘t §t+ e'+g ')

=Jin (Fet) +ae i i.m( )% Iim (3)=0

= — it Ppo

2/e .
e*efore X £ (x)dx canue?w = E he Conve/ gl
sz} fmleamf h;f) e



ol

S84 (*1} is ol ternabing Serier worth b =
R,

_%#ﬁ“ ﬂi"‘"‘ 5% o é’ué whaw ir 2 a/eﬁfeuﬁé?

' f(;ﬁ'ﬁ)'—“—?-—%—; O - N
Alse i P20 Shan Lim [L) =0 theetore

1 =320

59 P he ﬁ//ﬂfﬂ&a‘if) Senes Teot  Ha seriey amf&f}w for P>0.
Let PSSO +hern nibe . '
Ao (—-—) # 0
N =3 ag

Thece fye 53’ N2 Jerm tect Hhe seres a/-f'wgw for F=0.

533 S: _Q-l:lﬂ L\uw mwa H!mf I"‘MEJ ‘ppr l S'- Sﬁ , < 0. G'QQIQS,
i ] il :
% ;

I Y aiﬂrﬂoﬁﬂ% deries U-‘ilf‘i\ bn = %E . We
vee 4ha f-k.H‘Un&J%';N? sefier ectimation +hearem,

o . 1 Ve
e 0. booco¥s == N= .(m) e
Now  ceally T shouldve losked at = e bub  the algebea
is  eagier far N emJJ Rew  we S*fu-ﬁ/

o :
bﬁ'ﬁ; < 0. 00005 Lor N=zg

Thas |Sg -S| < b, < 0. 0000s Using tha Ak Seres
&shma-haw %auram

"f P\ ery Qi [ oy e /8 LAV -1 o
X asz s oJar{u&eLam a%u:b\ﬁ le { Converapy
Ff-”' o, = ¢ lﬂ)A’h we Aind ]ﬂn = |0 /r‘!' Considin s

% 2 M+ . I . .
L "ﬂo:_;;ﬂn E%ﬁ —E..‘T} = N ...“_9___ = 0 Z‘ X Conuerg,u L')g
v o h=36a \ N+| o M \rm Yy

@mhfhr‘e Lnveigtnie iroan fﬂfi_ 'Ic:ff::a{e%

1 mp oe fund C.nm.':e?of' bu Tive
kho}: ???ﬂfafe [/ 'psm ?’5? df_r(uﬂ’ ,,l " our Colrie,
When a series Converppo bod is nof absgletel Convecgn
z-/’ Is Squ—)_' Jp be canJ;hMa.y?. MWW /‘i—- e




